
Multiplicación (A)Halle cada producto.2 × 1 = 10 × 1 = 1 × 12 = 8 × 1 = 1 × 5 = 7 × 1 = 1 × 0 = 1 × 6 = 9 × 1 = 4 × 1 = 1 × 11 = 1 × 1 = 1 × 3 = 1 × 10 = 10 × 1 = 2 × 1 = 1 × 12 = 1 × 0 = 1 × 1 = 1 × 6 = 11 × 1 = 4 × 1 = 5 × 1 = 9 × 1 = 8 × 1 = 1 × 3 = 1 × 2 = 8 × 1 = 0 × 1 = 1 × 12 = 1 × 4 = 1 × 3 = 10 × 1 = 1 × 6 = 11 × 1 = 7 × 1 = 1 × 1 = 9 × 1 = 1 × 5 = 5 × 1 = 4 × 1 = 1 × 0 = 1 × 7 = 12 × 1 = 9 × 1 = 1 × 11 = 1 × 1 = 6 × 1 = 1 × 3 = 2 × 1 = 1 × 10 = 1 × 8 = 1 × 4 = 1 × 5 = 1 × 3 = 6 × 1 = 9 × 1 = 1 × 1 = 0 × 1 = 2 × 1 = 1 × 10 = 8 × 1 = 12 × 1 = 7 × 1 = 11 × 1 = 1 × 0 = 4 × 1 = 12 × 1 = 1 × 6 = 1 × 8 = 1 × 11 = 1 × 5 = 9 × 1 = 3 × 1 = 1 × 1 = 1 × 10 = 7 × 1 = 2 × 1 = 12 × 1 = 11 × 1 = 1 × 1 = 1 × 9 = 1 × 7 = 6 × 1 = 1 × 3 = 10 × 1 = 2 × 1 = 5 × 1 = 1 × 0 = 8 × 1 = 1 × 4 = 10 × 1 = 12 × 1 = 9 × 1 = 3 × 1 = 7 × 1 = 1 × 5 = 11 × 1 = 1 × 1 = 1 × 6 = MatesLibres.Com



Multiplicación (A) RespuestasHalle cada producto.2 × 1 = 2 10 × 1 = 10 1 × 12 = 12 8 × 1 = 81 × 5 = 5 7 × 1 = 7 1 × 0 = 0 1 × 6 = 69 × 1 = 9 4 × 1 = 4 1 × 11 = 11 1 × 1 = 11 × 3 = 3 1 × 10 = 10 10 × 1 = 10 2 × 1 = 21 × 12 = 12 1 × 0 = 0 1 × 1 = 1 1 × 6 = 611 × 1 = 11 4 × 1 = 4 5 × 1 = 5 9 × 1 = 98 × 1 = 8 1 × 3 = 3 1 × 2 = 2 8 × 1 = 80 × 1 = 0 1 × 12 = 12 1 × 4 = 4 1 × 3 = 310 × 1 = 10 1 × 6 = 6 11 × 1 = 11 7 × 1 = 71 × 1 = 1 9 × 1 = 9 1 × 5 = 5 5 × 1 = 54 × 1 = 4 1 × 0 = 0 1 × 7 = 7 12 × 1 = 129 × 1 = 9 1 × 11 = 11 1 × 1 = 1 6 × 1 = 61 × 3 = 3 2 × 1 = 2 1 × 10 = 10 1 × 8 = 81 × 4 = 4 1 × 5 = 5 1 × 3 = 3 6 × 1 = 69 × 1 = 9 1 × 1 = 1 0 × 1 = 0 2 × 1 = 21 × 10 = 10 8 × 1 = 8 12 × 1 = 12 7 × 1 = 711 × 1 = 11 1 × 0 = 0 4 × 1 = 4 12 × 1 = 121 × 6 = 6 1 × 8 = 8 1 × 11 = 11 1 × 5 = 59 × 1 = 9 3 × 1 = 3 1 × 1 = 1 1 × 10 = 107 × 1 = 7 2 × 1 = 2 12 × 1 = 12 11 × 1 = 111 × 1 = 1 1 × 9 = 9 1 × 7 = 7 6 × 1 = 61 × 3 = 3 10 × 1 = 10 2 × 1 = 2 5 × 1 = 51 × 0 = 0 8 × 1 = 8 1 × 4 = 4 10 × 1 = 1012 × 1 = 12 9 × 1 = 9 3 × 1 = 3 7 × 1 = 71 × 5 = 5 11 × 1 = 11 1 × 1 = 1 1 × 6 = 6MatesLibres.Com



Multiplicación (B)Halle cada producto.1 × 9 = 8 × 1 = 3 × 1 = 1 × 6 = 11 × 1 = 1 × 1 = 10 × 1 = 1 × 4 = 1 × 0 = 1 × 12 = 7 × 1 = 2 × 1 = 1 × 5 = 1 × 0 = 1 × 0 = 1 × 11 = 1 × 3 = 1 × 1 = 1 × 8 = 1 × 9 = 2 × 1 = 1 × 12 = 5 × 1 = 1 × 7 = 6 × 1 = 1 × 4 = 1 × 8 = 5 × 1 = 1 × 0 = 1 × 11 = 1 × 1 = 6 × 1 = 4 × 1 = 12 × 1 = 1 × 3 = 10 × 1 = 9 × 1 = 7 × 1 = 2 × 1 = 6 × 1 = 1 × 11 = 1 × 10 = 1 × 1 = 1 × 0 = 9 × 1 = 4 × 1 = 12 × 1 = 1 × 2 = 1 × 5 = 1 × 3 = 7 × 1 = 1 × 8 = 1 × 2 = 1 × 3 = 1 × 9 = 1 × 10 = 1 × 4 = 0 × 1 = 11 × 1 = 12 × 1 = 1 × 8 = 1 × 5 = 6 × 1 = 1 × 7 = 1 × 1 = 1 × 10 = 1 × 10 = 1 × 12 = 11 × 1 = 1 × 0 = 1 × 6 = 2 × 1 = 3 × 1 = 8 × 1 = 1 × 4 = 1 × 9 = 5 × 1 = 7 × 1 = 1 × 6 = 1 × 5 = 1 × 11 = 12 × 1 = 1 × 1 = 1 × 8 = 1 × 7 = 1 × 0 = 1 × 4 = 1 × 2 = 10 × 1 = 1 × 9 = 1 × 3 = 1 × 1 = 7 × 1 = 1 × 2 = 1 × 8 = 3 × 1 = 11 × 1 = 0 × 1 = 6 × 1 = 5 × 1 = MatesLibres.Com



Multiplicación (B) RespuestasHalle cada producto.1 × 9 = 9 8 × 1 = 8 3 × 1 = 3 1 × 6 = 611 × 1 = 11 1 × 1 = 1 10 × 1 = 10 1 × 4 = 41 × 0 = 0 1 × 12 = 12 7 × 1 = 7 2 × 1 = 21 × 5 = 5 1 × 0 = 0 1 × 0 = 0 1 × 11 = 111 × 3 = 3 1 × 1 = 1 1 × 8 = 8 1 × 9 = 92 × 1 = 2 1 × 12 = 12 5 × 1 = 5 1 × 7 = 76 × 1 = 6 1 × 4 = 4 1 × 8 = 8 5 × 1 = 51 × 0 = 0 1 × 11 = 11 1 × 1 = 1 6 × 1 = 64 × 1 = 4 12 × 1 = 12 1 × 3 = 3 10 × 1 = 109 × 1 = 9 7 × 1 = 7 2 × 1 = 2 6 × 1 = 61 × 11 = 11 1 × 10 = 10 1 × 1 = 1 1 × 0 = 09 × 1 = 9 4 × 1 = 4 12 × 1 = 12 1 × 2 = 21 × 5 = 5 1 × 3 = 3 7 × 1 = 7 1 × 8 = 81 × 2 = 2 1 × 3 = 3 1 × 9 = 9 1 × 10 = 101 × 4 = 4 0 × 1 = 0 11 × 1 = 11 12 × 1 = 121 × 8 = 8 1 × 5 = 5 6 × 1 = 6 1 × 7 = 71 × 1 = 1 1 × 10 = 10 1 × 10 = 10 1 × 12 = 1211 × 1 = 11 1 × 0 = 0 1 × 6 = 6 2 × 1 = 23 × 1 = 3 8 × 1 = 8 1 × 4 = 4 1 × 9 = 95 × 1 = 5 7 × 1 = 7 1 × 6 = 6 1 × 5 = 51 × 11 = 11 12 × 1 = 12 1 × 1 = 1 1 × 8 = 81 × 7 = 7 1 × 0 = 0 1 × 4 = 4 1 × 2 = 210 × 1 = 10 1 × 9 = 9 1 × 3 = 3 1 × 1 = 17 × 1 = 7 1 × 2 = 2 1 × 8 = 8 3 × 1 = 311 × 1 = 11 0 × 1 = 0 6 × 1 = 6 5 × 1 = 5MatesLibres.Com



Multiplicación (C)Halle cada producto.1 × 2 = 5 × 1 = 1 × 1 = 1 × 10 = 6 × 1 = 4 × 1 = 1 × 7 = 8 × 1 = 12 × 1 = 1 × 3 = 1 × 11 = 0 × 1 = 9 × 1 = 3 × 1 = 1 × 3 = 7 × 1 = 8 × 1 = 1 × 9 = 1 × 1 = 5 × 1 = 1 × 6 = 12 × 1 = 2 × 1 = 0 × 1 = 11 × 1 = 1 × 10 = 10 × 1 = 3 × 1 = 8 × 1 = 1 × 2 = 1 × 6 = 1 × 0 = 12 × 1 = 7 × 1 = 4 × 1 = 1 × 9 = 11 × 1 = 1 × 1 = 5 × 1 = 1 × 1 = 1 × 12 = 1 × 6 = 1 × 9 = 10 × 1 = 8 × 1 = 1 × 7 = 1 × 2 = 1 × 11 = 1 × 0 = 1 × 3 = 1 × 4 = 1 × 5 = 7 × 1 = 1 × 2 = 1 × 11 = 1 × 5 = 1 × 10 = 1 × 9 = 3 × 1 = 4 × 1 = 12 × 1 = 1 × 8 = 6 × 1 = 0 × 1 = 1 × 1 = 1 × 8 = 1 × 8 = 7 × 1 = 1 × 9 = 11 × 1 = 1 × 12 = 4 × 1 = 3 × 1 = 1 × 1 = 2 × 1 = 1 × 5 = 1 × 0 = 10 × 1 = 1 × 1 = 4 × 1 = 1 × 9 = 12 × 1 = 1 × 2 = 1 × 3 = 5 × 1 = 0 × 1 = 11 × 1 = 8 × 1 = 1 × 6 = 1 × 7 = 10 × 1 = 2 × 1 = 5 × 1 = 1 × 12 = 1 × 11 = 3 × 1 = 8 × 1 = 4 × 1 = 1 × 1 = 9 × 1 = MatesLibres.Com



Multiplicación (C) RespuestasHalle cada producto.1 × 2 = 2 5 × 1 = 5 1 × 1 = 1 1 × 10 = 106 × 1 = 6 4 × 1 = 4 1 × 7 = 7 8 × 1 = 812 × 1 = 12 1 × 3 = 3 1 × 11 = 11 0 × 1 = 09 × 1 = 9 3 × 1 = 3 1 × 3 = 3 7 × 1 = 78 × 1 = 8 1 × 9 = 9 1 × 1 = 1 5 × 1 = 51 × 6 = 6 12 × 1 = 12 2 × 1 = 2 0 × 1 = 011 × 1 = 11 1 × 10 = 10 10 × 1 = 10 3 × 1 = 38 × 1 = 8 1 × 2 = 2 1 × 6 = 6 1 × 0 = 012 × 1 = 12 7 × 1 = 7 4 × 1 = 4 1 × 9 = 911 × 1 = 11 1 × 1 = 1 5 × 1 = 5 1 × 1 = 11 × 12 = 12 1 × 6 = 6 1 × 9 = 9 10 × 1 = 108 × 1 = 8 1 × 7 = 7 1 × 2 = 2 1 × 11 = 111 × 0 = 0 1 × 3 = 3 1 × 4 = 4 1 × 5 = 57 × 1 = 7 1 × 2 = 2 1 × 11 = 11 1 × 5 = 51 × 10 = 10 1 × 9 = 9 3 × 1 = 3 4 × 1 = 412 × 1 = 12 1 × 8 = 8 6 × 1 = 6 0 × 1 = 01 × 1 = 1 1 × 8 = 8 1 × 8 = 8 7 × 1 = 71 × 9 = 9 11 × 1 = 11 1 × 12 = 12 4 × 1 = 43 × 1 = 3 1 × 1 = 1 2 × 1 = 2 1 × 5 = 51 × 0 = 0 10 × 1 = 10 1 × 1 = 1 4 × 1 = 41 × 9 = 9 12 × 1 = 12 1 × 2 = 2 1 × 3 = 35 × 1 = 5 0 × 1 = 0 11 × 1 = 11 8 × 1 = 81 × 6 = 6 1 × 7 = 7 10 × 1 = 10 2 × 1 = 25 × 1 = 5 1 × 12 = 12 1 × 11 = 11 3 × 1 = 38 × 1 = 8 4 × 1 = 4 1 × 1 = 1 9 × 1 = 9MatesLibres.Com



Multiplicación (D)Halle cada producto.1 × 11 = 4 × 1 = 2 × 1 = 1 × 3 = 6 × 1 = 1 × 1 = 9 × 1 = 1 × 0 = 5 × 1 = 1 × 8 = 7 × 1 = 12 × 1 = 1 × 10 = 1 × 12 = 5 × 1 = 1 × 8 = 4 × 1 = 2 × 1 = 7 × 1 = 6 × 1 = 11 × 1 = 9 × 1 = 1 × 0 = 10 × 1 = 1 × 3 = 1 × 1 = 3 × 1 = 1 × 9 = 1 × 11 = 8 × 1 = 1 × 7 = 1 × 1 = 1 × 0 = 1 × 5 = 1 × 4 = 6 × 1 = 2 × 1 = 1 × 12 = 1 × 10 = 1 × 1 = 5 × 1 = 1 × 10 = 1 × 8 = 1 × 7 = 6 × 1 = 9 × 1 = 3 × 1 = 12 × 1 = 1 × 0 = 2 × 1 = 1 × 11 = 1 × 4 = 5 × 1 = 8 × 1 = 1 × 6 = 1 × 1 = 1 × 7 = 1 × 12 = 1 × 11 = 1 × 3 = 4 × 1 = 10 × 1 = 9 × 1 = 0 × 1 = 1 × 2 = 1 × 12 = 1 × 2 = 3 × 1 = 6 × 1 = 10 × 1 = 4 × 1 = 1 × 0 = 9 × 1 = 1 × 1 = 1 × 7 = 1 × 5 = 1 × 11 = 1 × 8 = 1 × 12 = 10 × 1 = 1 × 1 = 6 × 1 = 1 × 9 = 1 × 7 = 1 × 2 = 1 × 5 = 1 × 4 = 0 × 1 = 8 × 1 = 11 × 1 = 3 × 1 = 9 × 1 = 8 × 1 = 1 × 1 = 0 × 1 = 3 × 1 = 6 × 1 = 1 × 4 = 1 × 10 = 1 × 7 = MatesLibres.Com



Multiplicación (D) RespuestasHalle cada producto.1 × 11 = 11 4 × 1 = 4 2 × 1 = 2 1 × 3 = 36 × 1 = 6 1 × 1 = 1 9 × 1 = 9 1 × 0 = 05 × 1 = 5 1 × 8 = 8 7 × 1 = 7 12 × 1 = 121 × 10 = 10 1 × 12 = 12 5 × 1 = 5 1 × 8 = 84 × 1 = 4 2 × 1 = 2 7 × 1 = 7 6 × 1 = 611 × 1 = 11 9 × 1 = 9 1 × 0 = 0 10 × 1 = 101 × 3 = 3 1 × 1 = 1 3 × 1 = 3 1 × 9 = 91 × 11 = 11 8 × 1 = 8 1 × 7 = 7 1 × 1 = 11 × 0 = 0 1 × 5 = 5 1 × 4 = 4 6 × 1 = 62 × 1 = 2 1 × 12 = 12 1 × 10 = 10 1 × 1 = 15 × 1 = 5 1 × 10 = 10 1 × 8 = 8 1 × 7 = 76 × 1 = 6 9 × 1 = 9 3 × 1 = 3 12 × 1 = 121 × 0 = 0 2 × 1 = 2 1 × 11 = 11 1 × 4 = 45 × 1 = 5 8 × 1 = 8 1 × 6 = 6 1 × 1 = 11 × 7 = 7 1 × 12 = 12 1 × 11 = 11 1 × 3 = 34 × 1 = 4 10 × 1 = 10 9 × 1 = 9 0 × 1 = 01 × 2 = 2 1 × 12 = 12 1 × 2 = 2 3 × 1 = 36 × 1 = 6 10 × 1 = 10 4 × 1 = 4 1 × 0 = 09 × 1 = 9 1 × 1 = 1 1 × 7 = 7 1 × 5 = 51 × 11 = 11 1 × 8 = 8 1 × 12 = 12 10 × 1 = 101 × 1 = 1 6 × 1 = 6 1 × 9 = 9 1 × 7 = 71 × 2 = 2 1 × 5 = 5 1 × 4 = 4 0 × 1 = 08 × 1 = 8 11 × 1 = 11 3 × 1 = 3 9 × 1 = 98 × 1 = 8 1 × 1 = 1 0 × 1 = 0 3 × 1 = 36 × 1 = 6 1 × 4 = 4 1 × 10 = 10 1 × 7 = 7MatesLibres.Com



Multiplicación (E)Halle cada producto.1 × 11 = 1 × 9 = 1 × 3 = 6 × 1 = 7 × 1 = 1 × 8 = 10 × 1 = 1 × 12 = 2 × 1 = 1 × 0 = 1 × 1 = 1 × 4 = 5 × 1 = 7 × 1 = 1 × 3 = 4 × 1 = 1 × 10 = 11 × 1 = 1 × 9 = 12 × 1 = 1 × 1 = 2 × 1 = 1 × 5 = 1 × 0 = 1 × 8 = 1 × 6 = 1 × 1 = 11 × 1 = 1 × 5 = 1 × 0 = 1 × 8 = 1 × 7 = 1 × 2 = 6 × 1 = 1 × 9 = 10 × 1 = 1 × 12 = 3 × 1 = 4 × 1 = 10 × 1 = 7 × 1 = 1 × 3 = 9 × 1 = 5 × 1 = 1 × 6 = 1 × 1 = 1 × 11 = 1 × 2 = 0 × 1 = 1 × 4 = 1 × 12 = 8 × 1 = 5 × 1 = 6 × 1 = 12 × 1 = 1 × 7 = 1 × 0 = 10 × 1 = 2 × 1 = 1 × 3 = 1 × 9 = 1 × 1 = 4 × 1 = 1 × 8 = 1 × 11 = 7 × 1 = 9 × 1 = 2 × 1 = 1 × 0 = 1 × 4 = 1 × 6 = 11 × 1 = 1 × 1 = 1 × 3 = 1 × 12 = 1 × 5 = 8 × 1 = 1 × 10 = 1 × 2 = 1 × 7 = 4 × 1 = 8 × 1 = 1 × 0 = 1 × 1 = 1 × 6 = 1 × 9 = 1 × 12 = 3 × 1 = 5 × 1 = 10 × 1 = 11 × 1 = 3 × 1 = 1 × 8 = 2 × 1 = 12 × 1 = 7 × 1 = 4 × 1 = 1 × 9 = 1 × 5 = 11 × 1 = MatesLibres.Com



Multiplicación (E) RespuestasHalle cada producto.1 × 11 = 11 1 × 9 = 9 1 × 3 = 3 6 × 1 = 67 × 1 = 7 1 × 8 = 8 10 × 1 = 10 1 × 12 = 122 × 1 = 2 1 × 0 = 0 1 × 1 = 1 1 × 4 = 45 × 1 = 5 7 × 1 = 7 1 × 3 = 3 4 × 1 = 41 × 10 = 10 11 × 1 = 11 1 × 9 = 9 12 × 1 = 121 × 1 = 1 2 × 1 = 2 1 × 5 = 5 1 × 0 = 01 × 8 = 8 1 × 6 = 6 1 × 1 = 1 11 × 1 = 111 × 5 = 5 1 × 0 = 0 1 × 8 = 8 1 × 7 = 71 × 2 = 2 6 × 1 = 6 1 × 9 = 9 10 × 1 = 101 × 12 = 12 3 × 1 = 3 4 × 1 = 4 10 × 1 = 107 × 1 = 7 1 × 3 = 3 9 × 1 = 9 5 × 1 = 51 × 6 = 6 1 × 1 = 1 1 × 11 = 11 1 × 2 = 20 × 1 = 0 1 × 4 = 4 1 × 12 = 12 8 × 1 = 85 × 1 = 5 6 × 1 = 6 12 × 1 = 12 1 × 7 = 71 × 0 = 0 10 × 1 = 10 2 × 1 = 2 1 × 3 = 31 × 9 = 9 1 × 1 = 1 4 × 1 = 4 1 × 8 = 81 × 11 = 11 7 × 1 = 7 9 × 1 = 9 2 × 1 = 21 × 0 = 0 1 × 4 = 4 1 × 6 = 6 11 × 1 = 111 × 1 = 1 1 × 3 = 3 1 × 12 = 12 1 × 5 = 58 × 1 = 8 1 × 10 = 10 1 × 2 = 2 1 × 7 = 74 × 1 = 4 8 × 1 = 8 1 × 0 = 0 1 × 1 = 11 × 6 = 6 1 × 9 = 9 1 × 12 = 12 3 × 1 = 35 × 1 = 5 10 × 1 = 10 11 × 1 = 11 3 × 1 = 31 × 8 = 8 2 × 1 = 2 12 × 1 = 12 7 × 1 = 74 × 1 = 4 1 × 9 = 9 1 × 5 = 5 11 × 1 = 11MatesLibres.Com



Multiplicación (F)Halle cada producto.1 × 0 = 1 × 7 = 10 × 1 = 1 × 5 = 1 × 1 = 4 × 1 = 1 × 3 = 11 × 1 = 1 × 12 = 2 × 1 = 1 × 8 = 1 × 9 = 1 × 6 = 1 × 5 = 10 × 1 = 1 × 4 = 1 × 2 = 1 × 6 = 3 × 1 = 9 × 1 = 1 × 1 = 7 × 1 = 1 × 0 = 1 × 12 = 8 × 1 = 11 × 1 = 8 × 1 = 0 × 1 = 3 × 1 = 1 × 12 = 1 × 2 = 1 × 1 = 11 × 1 = 7 × 1 = 4 × 1 = 6 × 1 = 1 × 9 = 5 × 1 = 10 × 1 = 1 × 10 = 1 × 12 = 1 × 2 = 3 × 1 = 7 × 1 = 1 × 8 = 4 × 1 = 1 × 9 = 5 × 1 = 0 × 1 = 6 × 1 = 1 × 11 = 1 × 1 = 4 × 1 = 1 × 9 = 1 × 2 = 1 × 12 = 0 × 1 = 10 × 1 = 3 × 1 = 1 × 11 = 1 × 8 = 1 × 5 = 7 × 1 = 1 × 1 = 6 × 1 = 1 × 1 = 1 × 1 = 2 × 1 = 9 × 1 = 1 × 3 = 11 × 1 = 4 × 1 = 1 × 8 = 1 × 10 = 1 × 6 = 1 × 0 = 1 × 12 = 7 × 1 = 7 × 1 = 1 × 1 = 1 × 3 = 10 × 1 = 11 × 1 = 1 × 6 = 1 × 4 = 0 × 1 = 2 × 1 = 1 × 8 = 9 × 1 = 5 × 1 = 1 × 12 = 1 × 11 = 0 × 1 = 6 × 1 = 12 × 1 = 1 × 5 = 1 × 1 = 1 × 10 = 1 × 9 = 1 × 3 = MatesLibres.Com



Multiplicación (F) RespuestasHalle cada producto.1 × 0 = 0 1 × 7 = 7 10 × 1 = 10 1 × 5 = 51 × 1 = 1 4 × 1 = 4 1 × 3 = 3 11 × 1 = 111 × 12 = 12 2 × 1 = 2 1 × 8 = 8 1 × 9 = 91 × 6 = 6 1 × 5 = 5 10 × 1 = 10 1 × 4 = 41 × 2 = 2 1 × 6 = 6 3 × 1 = 3 9 × 1 = 91 × 1 = 1 7 × 1 = 7 1 × 0 = 0 1 × 12 = 128 × 1 = 8 11 × 1 = 11 8 × 1 = 8 0 × 1 = 03 × 1 = 3 1 × 12 = 12 1 × 2 = 2 1 × 1 = 111 × 1 = 11 7 × 1 = 7 4 × 1 = 4 6 × 1 = 61 × 9 = 9 5 × 1 = 5 10 × 1 = 10 1 × 10 = 101 × 12 = 12 1 × 2 = 2 3 × 1 = 3 7 × 1 = 71 × 8 = 8 4 × 1 = 4 1 × 9 = 9 5 × 1 = 50 × 1 = 0 6 × 1 = 6 1 × 11 = 11 1 × 1 = 14 × 1 = 4 1 × 9 = 9 1 × 2 = 2 1 × 12 = 120 × 1 = 0 10 × 1 = 10 3 × 1 = 3 1 × 11 = 111 × 8 = 8 1 × 5 = 5 7 × 1 = 7 1 × 1 = 16 × 1 = 6 1 × 1 = 1 1 × 1 = 1 2 × 1 = 29 × 1 = 9 1 × 3 = 3 11 × 1 = 11 4 × 1 = 41 × 8 = 8 1 × 10 = 10 1 × 6 = 6 1 × 0 = 01 × 12 = 12 7 × 1 = 7 7 × 1 = 7 1 × 1 = 11 × 3 = 3 10 × 1 = 10 11 × 1 = 11 1 × 6 = 61 × 4 = 4 0 × 1 = 0 2 × 1 = 2 1 × 8 = 89 × 1 = 9 5 × 1 = 5 1 × 12 = 12 1 × 11 = 110 × 1 = 0 6 × 1 = 6 12 × 1 = 12 1 × 5 = 51 × 1 = 1 1 × 10 = 10 1 × 9 = 9 1 × 3 = 3MatesLibres.Com



Multiplicación (G)Halle cada producto.1 × 4 = 1 × 8 = 1 × 7 = 11 × 1 = 1 × 9 = 3 × 1 = 12 × 1 = 1 × 6 = 1 × 2 = 1 × 10 = 1 × 5 = 1 × 1 = 0 × 1 = 11 × 1 = 1 × 6 = 1 × 3 = 0 × 1 = 1 × 10 = 2 × 1 = 1 × 5 = 1 × 1 = 1 × 9 = 7 × 1 = 1 × 4 = 1 × 8 = 12 × 1 = 1 × 10 = 7 × 1 = 1 × 6 = 0 × 1 = 1 × 2 = 12 × 1 = 1 × 1 = 1 × 5 = 1 × 9 = 3 × 1 = 1 × 4 = 1 × 8 = 1 × 11 = 10 × 1 = 1 × 11 = 12 × 1 = 1 × 1 = 1 × 2 = 1 × 4 = 1 × 6 = 9 × 1 = 1 × 8 = 7 × 1 = 0 × 1 = 5 × 1 = 1 × 3 = 10 × 1 = 9 × 1 = 1 × 8 = 1 × 12 = 1 × 4 = 2 × 1 = 1 × 6 = 1 × 7 = 0 × 1 = 1 × 3 = 5 × 1 = 1 × 1 = 1 × 11 = 1 × 3 = 12 × 1 = 9 × 1 = 1 × 5 = 10 × 1 = 2 × 1 = 1 × 8 = 1 × 11 = 7 × 1 = 1 × 1 = 0 × 1 = 1 × 4 = 6 × 1 = 1 × 7 = 1 × 8 = 3 × 1 = 1 × 11 = 2 × 1 = 1 × 5 = 9 × 1 = 12 × 1 = 1 × 0 = 1 × 1 = 4 × 1 = 1 × 6 = 1 × 10 = 5 × 1 = 1 × 0 = 2 × 1 = 7 × 1 = 1 × 4 = 1 × 1 = 1 × 6 = 8 × 1 = 1 × 3 = MatesLibres.Com



Multiplicación (G) RespuestasHalle cada producto.1 × 4 = 4 1 × 8 = 8 1 × 7 = 7 11 × 1 = 111 × 9 = 9 3 × 1 = 3 12 × 1 = 12 1 × 6 = 61 × 2 = 2 1 × 10 = 10 1 × 5 = 5 1 × 1 = 10 × 1 = 0 11 × 1 = 11 1 × 6 = 6 1 × 3 = 30 × 1 = 0 1 × 10 = 10 2 × 1 = 2 1 × 5 = 51 × 1 = 1 1 × 9 = 9 7 × 1 = 7 1 × 4 = 41 × 8 = 8 12 × 1 = 12 1 × 10 = 10 7 × 1 = 71 × 6 = 6 0 × 1 = 0 1 × 2 = 2 12 × 1 = 121 × 1 = 1 1 × 5 = 5 1 × 9 = 9 3 × 1 = 31 × 4 = 4 1 × 8 = 8 1 × 11 = 11 10 × 1 = 101 × 11 = 11 12 × 1 = 12 1 × 1 = 1 1 × 2 = 21 × 4 = 4 1 × 6 = 6 9 × 1 = 9 1 × 8 = 87 × 1 = 7 0 × 1 = 0 5 × 1 = 5 1 × 3 = 310 × 1 = 10 9 × 1 = 9 1 × 8 = 8 1 × 12 = 121 × 4 = 4 2 × 1 = 2 1 × 6 = 6 1 × 7 = 70 × 1 = 0 1 × 3 = 3 5 × 1 = 5 1 × 1 = 11 × 11 = 11 1 × 3 = 3 12 × 1 = 12 9 × 1 = 91 × 5 = 5 10 × 1 = 10 2 × 1 = 2 1 × 8 = 81 × 11 = 11 7 × 1 = 7 1 × 1 = 1 0 × 1 = 01 × 4 = 4 6 × 1 = 6 1 × 7 = 7 1 × 8 = 83 × 1 = 3 1 × 11 = 11 2 × 1 = 2 1 × 5 = 59 × 1 = 9 12 × 1 = 12 1 × 0 = 0 1 × 1 = 14 × 1 = 4 1 × 6 = 6 1 × 10 = 10 5 × 1 = 51 × 0 = 0 2 × 1 = 2 7 × 1 = 7 1 × 4 = 41 × 1 = 1 1 × 6 = 6 8 × 1 = 8 1 × 3 = 3MatesLibres.Com



Multiplicación (H)Halle cada producto.11 × 1 = 1 × 2 = 1 × 3 = 12 × 1 = 9 × 1 = 10 × 1 = 1 × 6 = 1 × 4 = 7 × 1 = 1 × 5 = 1 × 8 = 1 × 0 = 1 × 1 = 11 × 1 = 7 × 1 = 0 × 1 = 4 × 1 = 1 × 9 = 1 × 8 = 1 × 3 = 10 × 1 = 6 × 1 = 5 × 1 = 2 × 1 = 1 × 1 = 1 × 12 = 4 × 1 = 1 × 1 = 1 × 9 = 1 × 6 = 2 × 1 = 5 × 1 = 1 × 7 = 12 × 1 = 1 × 8 = 0 × 1 = 1 × 10 = 11 × 1 = 1 × 3 = 1 × 5 = 1 × 2 = 1 × 1 = 7 × 1 = 6 × 1 = 3 × 1 = 0 × 1 = 11 × 1 = 1 × 4 = 1 × 8 = 12 × 1 = 1 × 9 = 1 × 10 = 5 × 1 = 1 × 9 = 3 × 1 = 1 × 6 = 10 × 1 = 0 × 1 = 12 × 1 = 11 × 1 = 4 × 1 = 8 × 1 = 2 × 1 = 7 × 1 = 1 × 1 = 5 × 1 = 5 × 1 = 1 × 0 = 1 × 3 = 8 × 1 = 1 × 7 = 1 × 2 = 12 × 1 = 4 × 1 = 1 × 9 = 1 × 11 = 1 × 1 = 10 × 1 = 1 × 4 = 1 × 3 = 2 × 1 = 1 × 10 = 1 × 11 = 1 × 1 = 5 × 1 = 6 × 1 = 8 × 1 = 1 × 7 = 12 × 1 = 0 × 1 = 9 × 1 = 5 × 1 = 7 × 1 = 2 × 1 = 1 × 3 = 8 × 1 = 10 × 1 = 11 × 1 = 6 × 1 = 1 × 9 = MatesLibres.Com



Multiplicación (H) RespuestasHalle cada producto.11 × 1 = 11 1 × 2 = 2 1 × 3 = 3 12 × 1 = 129 × 1 = 9 10 × 1 = 10 1 × 6 = 6 1 × 4 = 47 × 1 = 7 1 × 5 = 5 1 × 8 = 8 1 × 0 = 01 × 1 = 1 11 × 1 = 11 7 × 1 = 7 0 × 1 = 04 × 1 = 4 1 × 9 = 9 1 × 8 = 8 1 × 3 = 310 × 1 = 10 6 × 1 = 6 5 × 1 = 5 2 × 1 = 21 × 1 = 1 1 × 12 = 12 4 × 1 = 4 1 × 1 = 11 × 9 = 9 1 × 6 = 6 2 × 1 = 2 5 × 1 = 51 × 7 = 7 12 × 1 = 12 1 × 8 = 8 0 × 1 = 01 × 10 = 10 11 × 1 = 11 1 × 3 = 3 1 × 5 = 51 × 2 = 2 1 × 1 = 1 7 × 1 = 7 6 × 1 = 63 × 1 = 3 0 × 1 = 0 11 × 1 = 11 1 × 4 = 41 × 8 = 8 12 × 1 = 12 1 × 9 = 9 1 × 10 = 105 × 1 = 5 1 × 9 = 9 3 × 1 = 3 1 × 6 = 610 × 1 = 10 0 × 1 = 0 12 × 1 = 12 11 × 1 = 114 × 1 = 4 8 × 1 = 8 2 × 1 = 2 7 × 1 = 71 × 1 = 1 5 × 1 = 5 5 × 1 = 5 1 × 0 = 01 × 3 = 3 8 × 1 = 8 1 × 7 = 7 1 × 2 = 212 × 1 = 12 4 × 1 = 4 1 × 9 = 9 1 × 11 = 111 × 1 = 1 10 × 1 = 10 1 × 4 = 4 1 × 3 = 32 × 1 = 2 1 × 10 = 10 1 × 11 = 11 1 × 1 = 15 × 1 = 5 6 × 1 = 6 8 × 1 = 8 1 × 7 = 712 × 1 = 12 0 × 1 = 0 9 × 1 = 9 5 × 1 = 57 × 1 = 7 2 × 1 = 2 1 × 3 = 3 8 × 1 = 810 × 1 = 10 11 × 1 = 11 6 × 1 = 6 1 × 9 = 9MatesLibres.Com



Multiplicación (I)Halle cada producto.9 × 1 = 1 × 8 = 6 × 1 = 1 × 7 = 5 × 1 = 1 × 0 = 1 × 1 = 1 × 10 = 11 × 1 = 1 × 12 = 4 × 1 = 3 × 1 = 2 × 1 = 0 × 1 = 2 × 1 = 7 × 1 = 11 × 1 = 8 × 1 = 4 × 1 = 5 × 1 = 3 × 1 = 1 × 6 = 1 × 9 = 1 × 12 = 1 × 1 = 1 × 10 = 1 × 2 = 1 × 9 = 1 × 6 = 10 × 1 = 1 × 1 = 3 × 1 = 8 × 1 = 4 × 1 = 5 × 1 = 11 × 1 = 1 × 0 = 1 × 7 = 1 × 12 = 1 × 1 = 8 × 1 = 1 × 12 = 4 × 1 = 11 × 1 = 2 × 1 = 6 × 1 = 1 × 5 = 1 × 3 = 9 × 1 = 10 × 1 = 1 × 7 = 1 × 0 = 1 × 4 = 10 × 1 = 1 × 5 = 1 × 0 = 1 × 6 = 8 × 1 = 1 × 11 = 1 × 1 = 3 × 1 = 1 × 12 = 1 × 7 = 2 × 1 = 1 × 9 = 1 × 10 = 1 × 10 = 1 × 8 = 6 × 1 = 5 × 1 = 12 × 1 = 4 × 1 = 1 × 7 = 3 × 1 = 2 × 1 = 1 × 1 = 0 × 1 = 1 × 9 = 10 × 1 = 1 × 12 = 1 × 1 = 8 × 1 = 6 × 1 = 1 × 9 = 2 × 1 = 1 × 11 = 5 × 1 = 1 × 7 = 1 × 3 = 1 × 0 = 1 × 4 = 3 × 1 = 1 × 8 = 1 × 12 = 1 × 1 = 11 × 1 = 1 × 5 = 0 × 1 = 1 × 6 = 1 × 10 = MatesLibres.Com



Multiplicación (I) RespuestasHalle cada producto.9 × 1 = 9 1 × 8 = 8 6 × 1 = 6 1 × 7 = 75 × 1 = 5 1 × 0 = 0 1 × 1 = 1 1 × 10 = 1011 × 1 = 11 1 × 12 = 12 4 × 1 = 4 3 × 1 = 32 × 1 = 2 0 × 1 = 0 2 × 1 = 2 7 × 1 = 711 × 1 = 11 8 × 1 = 8 4 × 1 = 4 5 × 1 = 53 × 1 = 3 1 × 6 = 6 1 × 9 = 9 1 × 12 = 121 × 1 = 1 1 × 10 = 10 1 × 2 = 2 1 × 9 = 91 × 6 = 6 10 × 1 = 10 1 × 1 = 1 3 × 1 = 38 × 1 = 8 4 × 1 = 4 5 × 1 = 5 11 × 1 = 111 × 0 = 0 1 × 7 = 7 1 × 12 = 12 1 × 1 = 18 × 1 = 8 1 × 12 = 12 4 × 1 = 4 11 × 1 = 112 × 1 = 2 6 × 1 = 6 1 × 5 = 5 1 × 3 = 39 × 1 = 9 10 × 1 = 10 1 × 7 = 7 1 × 0 = 01 × 4 = 4 10 × 1 = 10 1 × 5 = 5 1 × 0 = 01 × 6 = 6 8 × 1 = 8 1 × 11 = 11 1 × 1 = 13 × 1 = 3 1 × 12 = 12 1 × 7 = 7 2 × 1 = 21 × 9 = 9 1 × 10 = 10 1 × 10 = 10 1 × 8 = 86 × 1 = 6 5 × 1 = 5 12 × 1 = 12 4 × 1 = 41 × 7 = 7 3 × 1 = 3 2 × 1 = 2 1 × 1 = 10 × 1 = 0 1 × 9 = 9 10 × 1 = 10 1 × 12 = 121 × 1 = 1 8 × 1 = 8 6 × 1 = 6 1 × 9 = 92 × 1 = 2 1 × 11 = 11 5 × 1 = 5 1 × 7 = 71 × 3 = 3 1 × 0 = 0 1 × 4 = 4 3 × 1 = 31 × 8 = 8 1 × 12 = 12 1 × 1 = 1 11 × 1 = 111 × 5 = 5 0 × 1 = 0 1 × 6 = 6 1 × 10 = 10MatesLibres.Com



Multiplicación (J)Halle cada producto.3 × 1 = 1 × 7 = 1 × 1 = 1 × 5 = 1 × 6 = 1 × 10 = 12 × 1 = 9 × 1 = 4 × 1 = 1 × 8 = 1 × 11 = 2 × 1 = 1 × 0 = 2 × 1 = 1 × 3 = 1 × 10 = 1 × 8 = 1 × 6 = 12 × 1 = 11 × 1 = 5 × 1 = 1 × 1 = 1 × 9 = 1 × 4 = 1 × 0 = 7 × 1 = 12 × 1 = 5 × 1 = 1 × 4 = 0 × 1 = 1 × 10 = 3 × 1 = 1 × 1 = 6 × 1 = 2 × 1 = 7 × 1 = 1 × 11 = 1 × 9 = 8 × 1 = 2 × 1 = 0 × 1 = 10 × 1 = 9 × 1 = 5 × 1 = 7 × 1 = 1 × 6 = 1 × 1 = 1 × 11 = 4 × 1 = 12 × 1 = 1 × 3 = 8 × 1 = 3 × 1 = 11 × 1 = 4 × 1 = 1 × 2 = 1 × 10 = 1 × 12 = 6 × 1 = 1 × 9 = 7 × 1 = 1 × 1 = 1 × 8 = 0 × 1 = 5 × 1 = 1 × 7 = 1 × 7 = 0 × 1 = 3 × 1 = 10 × 1 = 1 × 12 = 1 × 9 = 1 × 4 = 2 × 1 = 11 × 1 = 1 × 1 = 1 × 5 = 1 × 6 = 3 × 1 = 9 × 1 = 4 × 1 = 0 × 1 = 1 × 7 = 5 × 1 = 1 × 10 = 1 × 2 = 1 × 11 = 6 × 1 = 1 × 12 = 8 × 1 = 1 × 1 = 9 × 1 = 1 × 4 = 1 × 11 = 12 × 1 = 1 × 1 = 6 × 1 = 1 × 10 = 1 × 5 = 0 × 1 = MatesLibres.Com



Multiplicación (J) RespuestasHalle cada producto.3 × 1 = 3 1 × 7 = 7 1 × 1 = 1 1 × 5 = 51 × 6 = 6 1 × 10 = 10 12 × 1 = 12 9 × 1 = 94 × 1 = 4 1 × 8 = 8 1 × 11 = 11 2 × 1 = 21 × 0 = 0 2 × 1 = 2 1 × 3 = 3 1 × 10 = 101 × 8 = 8 1 × 6 = 6 12 × 1 = 12 11 × 1 = 115 × 1 = 5 1 × 1 = 1 1 × 9 = 9 1 × 4 = 41 × 0 = 0 7 × 1 = 7 12 × 1 = 12 5 × 1 = 51 × 4 = 4 0 × 1 = 0 1 × 10 = 10 3 × 1 = 31 × 1 = 1 6 × 1 = 6 2 × 1 = 2 7 × 1 = 71 × 11 = 11 1 × 9 = 9 8 × 1 = 8 2 × 1 = 20 × 1 = 0 10 × 1 = 10 9 × 1 = 9 5 × 1 = 57 × 1 = 7 1 × 6 = 6 1 × 1 = 1 1 × 11 = 114 × 1 = 4 12 × 1 = 12 1 × 3 = 3 8 × 1 = 83 × 1 = 3 11 × 1 = 11 4 × 1 = 4 1 × 2 = 21 × 10 = 10 1 × 12 = 12 6 × 1 = 6 1 × 9 = 97 × 1 = 7 1 × 1 = 1 1 × 8 = 8 0 × 1 = 05 × 1 = 5 1 × 7 = 7 1 × 7 = 7 0 × 1 = 03 × 1 = 3 10 × 1 = 10 1 × 12 = 12 1 × 9 = 91 × 4 = 4 2 × 1 = 2 11 × 1 = 11 1 × 1 = 11 × 5 = 5 1 × 6 = 6 3 × 1 = 3 9 × 1 = 94 × 1 = 4 0 × 1 = 0 1 × 7 = 7 5 × 1 = 51 × 10 = 10 1 × 2 = 2 1 × 11 = 11 6 × 1 = 61 × 12 = 12 8 × 1 = 8 1 × 1 = 1 9 × 1 = 91 × 4 = 4 1 × 11 = 11 12 × 1 = 12 1 × 1 = 16 × 1 = 6 1 × 10 = 10 1 × 5 = 5 0 × 1 = 0MatesLibres.Com
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